
MATHS

BOOKS - TARGET MATHS (HINGLISH)

STRAIGHT LINE

Classical Thinking

1. The number of lines which are equally inclined to the axes is :

A. 4

B. 2

C. 3

D. 1

Answer: B

W t h Vid S l ti

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_shbB5ATDQOlj


Watch Video Solution

2. Angle made by the line passsing through  with x-

axis is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(1, 0) and ( − 2, √3)

60∘

120∘

150∘

135∘

3. The equation of a line passing through  and making an angle 

 with positive X-axis, is

A. 

(4, − 6)

45∘

x − y − 10 = 0

https://dl.doubtnut.com/l/_shbB5ATDQOlj
https://dl.doubtnut.com/l/_a9ogPA0FEdwA
https://dl.doubtnut.com/l/_bSOrPeewlckG


B. 

C. 

D. 

Answer: A

Watch Video Solution

x − 2y − 16 = 0

x − 3y − 22 = 0

x − 2y − 10 = 0

4. The equation of the line through the origin and perpendiculr to the

line joining  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(a, 0) and ( − a, 0)

y = 0

x = 0

x = − a

y = − a

https://dl.doubtnut.com/l/_bSOrPeewlckG
https://dl.doubtnut.com/l/_Ab1yUlO25sOm


5. If the co-ordinates of A and B are  then the Slope of

the perpendicular line of the line segment AB is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(1, 1) and (5, 7),

2

3

−
2

3

3

2

−
3

2

6. The equation of the line bisecting the line segment joining the points

 and  at right angle, is

A. 

B. 

(a, b) (a' , b' )

2(a − a' )x + 2(b − b' )y = a2 + b2 − a '2 − b '2

(a0a)x + (b − b' )y = a2 + b2 − a '2 − b '2

https://dl.doubtnut.com/l/_Ab1yUlO25sOm
https://dl.doubtnut.com/l/_WPvWFpLs09Xc
https://dl.doubtnut.com/l/_FnzZSFq4omDT


C. 

D. None of these

Answer: A

Watch Video Solution

2(a − b)x + 2(b − b' )y = a '2 + b '2 − a '2 − b '2

7. The equation of a line which bisects the line joining two points

 and perpendicular to the line joining two points 

 is

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

(2, − 19) and (6, 1)

( − 1, 3), and (5, − 1),

3x − 2y = 30

2x − y − 3 = 0

2x + 3y = 20

https://dl.doubtnut.com/l/_FnzZSFq4omDT
https://dl.doubtnut.com/l/_vQ3YOR3OK73B


8. Let P = (-1, 0), Q = (0, 0) and R = (3, ) be three points. The equation of

the bisector of the angle PQR

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3√3

x + y = 0
√3

2

x + √3y = 0

√3x + y = 0

x + y = 0
√3

2

9. The equation of a line joning the origin to the point  is

A. 

B. 

C. 

( − 4, 5)

5x + 4y = 0

3x + 4y = 2

5x − 4y = 0

https://dl.doubtnut.com/l/_vQ3YOR3OK73B
https://dl.doubtnut.com/l/_sGa5EQ5MRH1j
https://dl.doubtnut.com/l/_F9nis3Bcg6OD


D. 

Answer: A

Watch Video Solution

4x − 5y = 0

10. The equation of a straight line passing through the points

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( − 5, − 6) and (3, 10)

x − 2y = 4

2x − y + 4 = 0

2x + y = 4

x − 2y + 4 = 0

https://dl.doubtnut.com/l/_F9nis3Bcg6OD
https://dl.doubtnut.com/l/_SoYRzdPymq43


11. The equation of a line through the intersection of lines

 and through the point  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x = 0 and y = 0 (2, 2)

y = x − 1

y = − x

y = x

y = − x + 2

12. A straight line makes an angle of  with the X-axis and cuts Y-axis

at a distance -5 from the origin. The equation of the line is

A. 

B. 

C. 

135∘

2x + y + 5 = 0

x + 2y + 3 = 0

x + y + 5 = 0

https://dl.doubtnut.com/l/_YX6si4A3Zx8P
https://dl.doubtnut.com/l/_m9lUW6ZuTIIo


D. 

Answer: C

Watch Video Solution

x + y + 3 = 0

13. The equatio of the line whose slope is 3 and which cuts off an

intercept 3 from the positive X-axis is

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

y = 3x − 9

y = 3x + 3

y = 3x + 9

https://dl.doubtnut.com/l/_m9lUW6ZuTIIo
https://dl.doubtnut.com/l/_KymPbbzXJwLi


14. The equatio of the line which cutrs off an intercept 3 units on OX and

an intercept -2 units on OY is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

− = 1
x

3

y

2

+ = 1
x

3

y

2

+ = 1
x

2

y

3

− = 1
x

2

y

3

15. The equation of the line which cuts off intercepts

 on X-axis and Y-axis respectively is

A. 

B. 

C. 

2a secθ and 2a cos ecθ

x sin θ + y cos θ − 2a = 0

x cos θ + y sin θ − 2a = 0

x secθ + y cos ecθ − 2a = 0

https://dl.doubtnut.com/l/_Ix7Vps26hOy8
https://dl.doubtnut.com/l/_DGsMDZSXF3hJ


D. 

Answer: B

Watch Video Solution

x cos ecθ + y secθ − 2a = 0

16. The equation of line whose midpoint  is in between the axes, is

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

(x1, y1)

+ = 2
x

x1

y

y1

+ =
x

x1

y

y2

1

2

+ = 1
x

x1

y

y1

https://dl.doubtnut.com/l/_DGsMDZSXF3hJ
https://dl.doubtnut.com/l/_A6453smu1ekm


17. If the line  passes through the points a  and 

 then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+ = 1
x

a

y

b
(2, − 3)

(4, − 5), (a, b) =

(1, 1)

( − 1, 1)

(1, − 1)

( − 1, − 1)

18. The lines  and  are

perpendicular to each other , then .

A. 

B. 

C. 

a1x + b1y + c1 = 0 a2x + b2y + c2 = 0

_______

a1b2 − b1a2 = 0

a1a2 + b1b2 = 0

a2
1b2 + b2

1a2 = 0

https://dl.doubtnut.com/l/_Sjrbx93ugshx
https://dl.doubtnut.com/l/_WsSsQGX89qCB


D. 

Answer: B

Watch Video Solution

a1b1 + a2b2 = 0

19. The equation of line perpedicular to  is

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

x = c

y = d

x = d

x = 0

https://dl.doubtnut.com/l/_WsSsQGX89qCB
https://dl.doubtnut.com/l/_wiWVXg8uBnlr


20. Slope of a line which cuts off intercepts of equal lengths on the axes

is

A. 

B. 0

C. 2

D. 

Answer: A

Watch Video Solution

−1

√3

21. Equation of the line passing through  and parallel to the line 

 is

A. 

B. 

C. 

(1, 2)

y = 3x − 1

y + 2 = x + 1

y + 2 = 3(x + 1)

y − 2 = 3(x − 1)

https://dl.doubtnut.com/l/_1rqNGHrmxg1m
https://dl.doubtnut.com/l/_BZzzZy32tIHL


D. 

Answer: C

Watch Video Solution

y − 2 = x − 1

22. The equation of a line passing through  and parallel to 

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(c, d)

ax + by + c = 0

a(x + c) + (y + d) = 0

a(x + c) − b(y + d) = 0

a(x − c) + b(y − d) = 0

a(x − c) − b(y − d) = 0

https://dl.doubtnut.com/l/_BZzzZy32tIHL
https://dl.doubtnut.com/l/_6LG6fQf1x0l3


23. The equation of a line through  and perpendicular to the line 

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(3, − 4)

3x + 4y = 5

4x + 3y = 24

y − 4 = x + 3

3y − 4x = 24

y + 4 = (x − 3)
4
3

24. The equation of a line perpendicular to line  and

passing through  is equal to

A. 

B. 

C. 

ax + by + c = 0

(a, b)

bx − ay = 0

bx + ay − 2ab = 0

bx + ay = 0

https://dl.doubtnut.com/l/_0yljC1zf2Spd
https://dl.doubtnut.com/l/_S2TDxcuj9bdG


D. 

Answer: A

Watch Video Solution

bx − ay + 2ab = 0

25. The equation of the line passing through the point  and

perpendicular to the line y y'=2a (x+x')` is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(x' , y' )

xy' + 2ay + 2ay' − x' y' = 0

xy' + 2ay − 2ay' − x' y' = 0

xy' + 2ay + 2ay' − x' y' = 0

xy' + 2ay − 2ay' + x' y' = 0

https://dl.doubtnut.com/l/_S2TDxcuj9bdG
https://dl.doubtnut.com/l/_3mtsQWJnAyA3


26. The acute angle between the lines y=3 and  is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = √3x + 9

30∘

60∘

45∘

90∘

27. Find the angle between the lines  and 

.

A. 

B. 

C. 

D. 

y = (2 − √3)(x + 5)

y = (2 + √3)(x − 7)

30∘

60∘

45∘

90∘

https://dl.doubtnut.com/l/_Y1l8UWnuOOzI
https://dl.doubtnut.com/l/_Hg2BJ1wHdLjR


Answer: B

Watch Video Solution

28. The angle between the lines

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

xcos 30∘ + ysin 30∘ = 3 and xcos 60∘ + ysin 60∘ = 5

90∘

30∘

60∘

45∘

29. Find the tangent of the angel between the lines whose intercepts n

the
axes are respectively a, − badnb, − a.

https://dl.doubtnut.com/l/_Hg2BJ1wHdLjR
https://dl.doubtnut.com/l/_9dgoJeZLAOTg
https://dl.doubtnut.com/l/_TDTDDAartOoo


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan− 1 a2 + b2

ab

tan− 1 b2 − a2

2

tan− 1 b2 − a2

2ab

tan− 1 b2 − a2

ab

30. To which of the following types the straight lines represented by

 belong

A. Parallel to each other

B. Perpendicular to each other

C. Inclined at  to each other

D. Coincident pair of straight lines

Answer: A

2x + 3y − 7 = 0 and 2x + 3y − 5 = 0

45∘

https://dl.doubtnut.com/l/_TDTDDAartOoo
https://dl.doubtnut.com/l/_hz9RIL4hRN6v


Watch Video Solution

31. Find the equation of the lines through the point (3, 2) which make an

angle of with the line .

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

45o x − 2y = 3

3x − y + 7 = 0 and x + 3y + 9 = 0

3x − y − 7 = 0 and x + 3y − 9 = 0

x + 3y − 7 = 0 and x + 3y − 9 = 0

32. The angle between the lines

 is

A. `tan^(-1)""(a _(1)b_(2)+a_(2)b_(2))/(a _(1)a _(2)-b_(1)b_(2)'

a1x + b1y + c1 = 0 and a2x + b2y + c2 = o,

https://dl.doubtnut.com/l/_hz9RIL4hRN6v
https://dl.doubtnut.com/l/_WtKDGR72yUgQ
https://dl.doubtnut.com/l/_OCeOfdGIrH2o


B. 

C. 

D. 

Answer: B

Watch Video Solution

cot − 1 a1a2 + b1b2

a1b2 − a2b1

cot − 1
'
a1b1 − a2b2

a1a2 + b1b2

tan− 1 a1b1 − a2b2

a1b2 + b1b2

33. For the lines  which of the following

statemetn is true ?

A. Lines are parallel

B. Lines are coincident

C. Lines are intercecting

D. Lines are perpendicular

Answer: C

Watch Video Solution

2x + 5y = 7 and 2x − 5y = 9,

https://dl.doubtnut.com/l/_OCeOfdGIrH2o
https://dl.doubtnut.com/l/_3DAWo3qjykGb


34. If three lines whose equations are and 

are concurrent, then show that 

.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = m1x + c1, y = m2x + c2

y = m3x + c3

m1(c2 − c3) + m2(c3 − c1) + m3(c1 − c2) = 0

m1(c2 − c3) + m2(c3 − c1) + m3(c1 − c2) = 0

m1(c2 − c2) + m2(c3 − c2) + m3(c1 − c3) = 0

c1(m1 − m2) + c2(m2 − m3) + c3(m3 − m1) = 0

c1(m1 − m2) + c2(m2 − m3) + c3(m3 − m1) = 0

35. The value of k for which the lines

 are

concurrent is given by

7x − 8y + 5 = 0, 3x − 4y + 5 = 0 and 4x + 5y + k = 0

https://dl.doubtnut.com/l/_3DAWo3qjykGb
https://dl.doubtnut.com/l/_wplXLT3D3iLR
https://dl.doubtnut.com/l/_OT6PVmYNsMjq


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−45

44

54

−54

36. Prove that the following sets of three lines are concurrent:

A. Parallel

B. Perpendicular

C. Concurrent

D. None of these

Answer: C

15x − 18y + 1 = 0,  12x + 10y − 3 = 0 and 6x + 66y − 11 = 0.

https://dl.doubtnut.com/l/_OT6PVmYNsMjq
https://dl.doubtnut.com/l/_MlKGmH4rKOzg


Watch Video Solution

37. If 
 and 


 then the curve 
 is
 the same straight line 

different straight line
not a straight line
none of these

A. same straight line u

B. different straight line

C. not a stratight line

D. None of these

Answer: A

Watch Video Solution

u = a1x + b1y + c1 = 0, v = a2x + b2y + c2 = 0,

= = ,
a1

a2

b1

b2

c1

c2
u + kv = 0 u

38. The length iof perpendicular from on line  is

A. 6

(3, 1) 4x + 3y + 20 = 0,

https://dl.doubtnut.com/l/_MlKGmH4rKOzg
https://dl.doubtnut.com/l/_iDM79p0AhU64
https://dl.doubtnut.com/l/_MxD66dknPRbQ


B. 7

C. 5

D. 8

Answer: B

Watch Video Solution

39. The distance of the point  from the line  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( − 2, 3) x − y = 5

5√2

2√5

3√5

5√3

https://dl.doubtnut.com/l/_MxD66dknPRbQ
https://dl.doubtnut.com/l/_I4DZ04GfUOEf
https://dl.doubtnut.com/l/_HK4SD9b4xTsg


40. The perpendicular distance of the stratight line  from

the origin is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

12x + 5y = 7

7
13

12

13

5

13

1

13

41. The length of perpendicular from the point ( ) upon

the striaght line y = x  (where c gt 0) is

A. 

B. 

C. 

a cos ∝ , a sin ∝

tan ∝ + c

c cosα

c sin2 α

c sec2 α

https://dl.doubtnut.com/l/_HK4SD9b4xTsg
https://dl.doubtnut.com/l/_IYCKTpm5Jatp


D. 

Answer: A

Watch Video Solution

c cos2 α

42. If the length of the perpendicular drawn from the origin to the line

whose intercepts on the axes are  and  be , then 

(A)       


(B)       


(C)       


(D)       Â Â Â 

A. 

B. 

C. 

D. 

Answer: D

a b p

a2 + b2 = p2

a2 + b2 =
1

p2

+ =
1

a2

1

b2

2

p2

+ =
1

a2

1

b2

1

p2

a2 + b2 = p2

a2 + b2 =
1

p2

+ =
1

a2

1

b2

2

p2

+ =
1

a2

1

b2

1

p2

https://dl.doubtnut.com/l/_IYCKTpm5Jatp
https://dl.doubtnut.com/l/_Pm0gO1niVx76


Watch Video Solution

43. The length of the perpendicular form the point (b,a) to the line

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

− = 1
x

a

y

b

∣
∣
∣

∣
∣
∣

a2 − ab + b2

√a2 + b2

∣
∣
∣

∣
∣
∣

b2 − ab + a2

√a2 + b2

∣
∣
∣

∣
∣
∣

b2 + ab − a2

√a2 + b2

∣
∣
∣

∣
∣
∣

a2 + ab + b2

√a2 + b2

44. The length of perpendicular drawn from origin on the line joining

 is

A. 

(x' , y' ) and (x' , y' ),

∣
∣
∣
∣
∣

∣
∣

∣

∣
∣

x' y' ' + x' ' y'

√(x' ' − x' )2 + (y' ' − y' )2

https://dl.doubtnut.com/l/_Pm0gO1niVx76
https://dl.doubtnut.com/l/_S8EFai3fbWlo
https://dl.doubtnut.com/l/_E3piZmkhH1Jh


B. 

C. 

D. 

Answer: B

Watch Video Solution

∣
∣
∣
∣
∣

∣
∣

∣

∣
∣

x' y' ' − x' ' y'

√(x' ' − x' )2 + (y' ' − y' )2

∣
∣
∣
∣
∣

∣
∣

∣

∣
∣

x' y' ' + x' ' y'

√(x' ' + x' )
2

+ (y' ' + y' )
2

∣
∣
∣
∣
∣

∣
∣

∣

∣
∣

x' y' ' + x' ' y'

√(x' ' − x' )2 + (y' ' − y' )2

45. distance between the lines  and 

A. 

B. 

C. 

D. 

Answer: C

W t h Vid S l ti

5x + 3y − 7 = 0 15x + 9y + 14 = 0

35

√34

13

√34

35

3√34

35

2√34

https://dl.doubtnut.com/l/_E3piZmkhH1Jh
https://dl.doubtnut.com/l/_F6Ps5M9U1ZnL


Critical Thinking

Watch Video Solution

1. The side AB,BC,CD and DA of a quadrilateral are

 respectively. The angle

between diagonas AC and BC is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x + 2y = 3, x = 1, x − 3y = 4, 5x + y + 12 = 0

45∘

60∘

90∘

30∘

https://dl.doubtnut.com/l/_F6Ps5M9U1ZnL
https://dl.doubtnut.com/l/_78RXqRBIo7JE


2. If a straight line through the origin bisects the line passing through

the given points 
 and 
 then the lines

are perpendicular
are parallel
have an angle between them of 
none of

these

A. Perpendicular

B. Parallel

C. Angle between them is 

D. None of these

Answer: A

Watch Video Solution

(a cosα, a sinα) (a cos β, a sinβ),

π

4

π

4

3. The opposite vertices of a square are  then the

equation of a diagonal of the square passing through the point  is

A. 

(1, 2) and (3, 8),

(1, 2),

3x + y − 1 = 0

https://dl.doubtnut.com/l/_jbKNVSlmTpmd
https://dl.doubtnut.com/l/_AlVlF0JKKGME


B. 

C. 

D. None of these

Answer: A

Watch Video Solution

3y − x − 1 = 0

3x + y + 1 = 0

4. Let 
 be the median of the
 triangle with vertices 


 Then equation of the
 line passing

through 
 and parallel to 
 is
 



 


A. 

B. 

C. 

D. 

PS

P (2, 2), Q(6, − 1)andR(7, 3)

(1, − 1) PS 2x − 9y − 7 = 0

2x − 9y − 11 = 0 2x + 9y − 11 = 0 2x + 9y + 7 = 0

2x − 9y − 7 = 0

2x − 9y11 = 0

2x + 9y − 11 = 0

2x + 9y + 7 = 0

https://dl.doubtnut.com/l/_AlVlF0JKKGME
https://dl.doubtnut.com/l/_I6a6xVXCpk7F


Answer: D

Watch Video Solution

5. The point P(a,b) lies on the straight line  and the point 

 lies on the straight line  , then the equation of the

line PQ is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3x + 2y = 13

Q(b, a) 4x − y = 5

x − y = 5

x + y = 5

x + y = − 5

x − y = − 5

https://dl.doubtnut.com/l/_I6a6xVXCpk7F
https://dl.doubtnut.com/l/_hnjKLZuGd6pc


6. If a line joining two points A(2,0) and B(3,1) is rotated about A in anti-

clockwise direction , then the equation of the line in the new position

is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

15∘

√3x − y − 2√3 = 0

x − 3√y − 2 = 0

√3x + y − 2√3 = 0

x + √3y − 2 = 0

7. The points  are the opposite vertices of a rectangle.

The other two vartices lie on the line  then the value of c will

be

A. 4

(1, 3) and (5, 1)

y = 2x + c,

https://dl.doubtnut.com/l/_UPIg6j9mwyOa
https://dl.doubtnut.com/l/_ZanXTRUn5h8X


B. 

C. 2

D. 

Answer: B

Watch Video Solution

−4

−2

8. Equation of the hour hand at 4 O' clock is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x − √3y = 0

√3x − y = 0

x + √3y = 0

√3x + y = 0

https://dl.doubtnut.com/l/_ZanXTRUn5h8X
https://dl.doubtnut.com/l/_u9Lu729tBypS
https://dl.doubtnut.com/l/_Az9Dal6wGjCq


9. If the intercept of a line between the coordinate axes is divided by
the

point 
in the ratio 
then find the equation of the line.

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

( − 5, 4) 1: 2,

5x + 8y + 60 = 0

8x − 5y + 60 = 0

2x − 5y + 30 = 0

10. The intercept cut off from Y-axis is twice that from X-axis by the line

and line passes through  then its equation is

A. 

B. 

C. 

(1, 2),

2x + y = 4

2x + y + 4 = 0

2x − y = 4

https://dl.doubtnut.com/l/_Az9Dal6wGjCq
https://dl.doubtnut.com/l/_MsrYps1Yep7B


D. 

Answer: A

Watch Video Solution

2x − y + 4 = 0

11. A straight line moves so that the sum of the reciprocals of its

intercepts on two perpendicular lines is constant then the line passes

through-

A. A fixed point

B. A variable point

C. Origin

D. None of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_MsrYps1Yep7B
https://dl.doubtnut.com/l/_gGAsEuttZHgG
https://dl.doubtnut.com/l/_nCdWpkJv7ABc


12. A line passes through the point  and cuts off intercepts from the

co-ordinates axes such that their sum is 14. The equation of the line is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(3, 4)

4x − 3y = 14

4x + 3y = 24

3x − 4y = 24

3x + 4y = 24

13. A straight line through  is such that its intercept between the

axes is bisected at  its equation :

A. 

B. 

C. 

P (1, 2)

P

x + 2y = 5

x − y + 1 = 0

x + y − 3 = 0

https://dl.doubtnut.com/l/_nCdWpkJv7ABc
https://dl.doubtnut.com/l/_J0OJDDFDV5lI


D. 

Answer: D

Watch Video Solution

2x + y − 4 = 0

14. A straight line 
 is perpendicular to the line 
The area of

the triangle formed by the line 
 and the coordinate axes is


Find the equation of the line 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

L 5x − y = 1.

L

5squareunits. L.

x + 5y = 5

x + 5y = ± 5√2

x − 5y = 5

x − 5y = 5√2

https://dl.doubtnut.com/l/_J0OJDDFDV5lI
https://dl.doubtnut.com/l/_ZBHh49x8PZDm
https://dl.doubtnut.com/l/_G8xokRST3dTJ


15. If we reduce 
to the form 
then

the value of 
is
 
(b) 
(c) 
(d) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3x + 3y + 7 = 0 x cosα + y sinα = p,

p
7

2√3

7
3

3√7
2

7

3√2

7

2√30

7
3

3√7
2

7

3√2

16. The equation of lines on which the perpendiculars from the origin

make 
angle with the x-axis and which form a triangle of area 
with

the axes are
 
 


(d) 

A. 

300 50

√3

√3x + y − 10 = 0 √3x + y + 10 = 0 x + √3y − 10 = 0

x − √3y − 10 = 0

x + √3y ± 10 = 0

https://dl.doubtnut.com/l/_G8xokRST3dTJ
https://dl.doubtnut.com/l/_FjEtOPMxaXNw


B. 

C. 

D. None of these

Answer: B

Watch Video Solution

√3x + y ± 10 = 0

x ± √3y − 10 = 0

17. A line through 
 meets the lines 


 at the points 


 rspectively, if 
 find the

equation of the line.

A. 

B. 

C. 

D. None of these

A( − 5, − 4)

x + 3y + 2 = 0, 2x + y + 4 = 0andx − y − 5 = 0

B, CandD ( )
2

+ ( )
2

= ( )
2

15

AB

10

AC

6

AD

2x + 3y + 22 = 0

5x − 4y + 7 = 0

3x − 2y + 3 = 0

https://dl.doubtnut.com/l/_FjEtOPMxaXNw
https://dl.doubtnut.com/l/_AvrfK341PCuA


Answer: A

Watch Video Solution

18. Angle made with the x-axis by a straight line drawn through (1, 2) so

that it intersects 
at a distance 
 from (1, 2) is
 
 (b) 

(c) 
(d) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x + y = 4
√6

3
1050 750

600 150

30∘

45∘

60∘

75∘

https://dl.doubtnut.com/l/_AvrfK341PCuA
https://dl.doubtnut.com/l/_l0i4ybmPOjQx


19. distance of the lines  from the point  measured

paralel to the line  is

A. 

B. 

C. 

D. 6

Answer: A

Watch Video Solution

2x − 3y − 4 = 0 (1, 1)

x + y = 1

√2

5

√2

1

√2

20. Consider the equation . If  and different lines

ar drawn for different values of , then :

A. The lines will pass through a single point

B. There wil be a set of parallel lines

C. There will be one line only

y − y1 = m(x − x1) m

y1

https://dl.doubtnut.com/l/_rv8RgajtIBP3
https://dl.doubtnut.com/l/_tufCtLpXmOnO


D. None of these

Answer: C

Watch Video Solution

21. If the lines  are matually

perpendicular, then the value of a will be

A. 

B. 2

C. 

D. 

Answer: C

Watch Video Solution

2x + 3ay − 1 = 0 and 3x + 4y + 1 = 0

1

2

−
1

2

−2

https://dl.doubtnut.com/l/_tufCtLpXmOnO
https://dl.doubtnut.com/l/_PkoFGpkHSQQb


22. The equation to the straight line passing through the point

 and perpendicular to the line  is

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

(acos3θ, asin3θ) xsecθ + ycosecθ = a

x cos θ − y sin θ = a cos 2θ

x cos θ + y sin θ = a cos 2θ

x sin θ + y cos θ = a cos 2θ

23. The equation of the line parallel to the line  and passing

through the middle point of the line segment joining the points (1,3) and

(1,-7),` is

A. 

B. 

2x − 3y = 1

2x − 3y + 8 = 0

2x − 3y = 8

https://dl.doubtnut.com/l/_l0wsA83oabFe
https://dl.doubtnut.com/l/_tQJFqwj58yQP


C. 

D. 

Answer: B

Watch Video Solution

2x − 3y + 8 = 0

2x − 3y = 4

24. A line AB makes zero intercepts on X-axis and Y-axis and it is

perpendicular to another line  The equation of

line AB is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CD, 3x + 4y + 6 = 0.

y = 4

4x − 3y + 8 = 0

4x − 3y = 0

4x − 3y + 6 = 0

https://dl.doubtnut.com/l/_tQJFqwj58yQP
https://dl.doubtnut.com/l/_JnMyOfzaNB4V


25. The equations of the perpendicular bisectors of the sides 

of triangle 
are 
and 
 , respectively. If the

point 
is 
, then find the equation of the line 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ABandAC

ABC x − y + 5 = 0 x + 2y = 0

A (1, − 2) BC.

23x + 14y − 40 = 0

14x − 23 + 40 = 0

23x − 14 + 40 = 0

14x + 23y − 40 = 0

26. The number of lines that are parallel to  and have an

intercept  between the coordinate axes is

A. 1

2x + 6y − 7 = 0

10

https://dl.doubtnut.com/l/_JnMyOfzaNB4V
https://dl.doubtnut.com/l/_7eRiMb6d2Bb8
https://dl.doubtnut.com/l/_dRJXXybBvnK3


B. 2

C. 4

D. Infinitely many

Answer: B

Watch Video Solution

27. The angle between the lines  and

 is 


(A)        (B)       
(C)       
(D)       

A. 

B. 

C. 

D. 

Answer: B

xcosα1 + ysinα1 = p1

xcosα2 + ysinα2 = p2

|α1 + α2| |α1 − α2| |2α1| |2α2|

α1 + α2

α1 − α2

2α1

2α2

https://dl.doubtnut.com/l/_dRJXXybBvnK3
https://dl.doubtnut.com/l/_ku3jqK4F7lkT


Watch Video Solution

28. If the co-ordinates of the vertices A,B,C of the triangle ABC are

 respectively, then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( − 4, 2), (12, − 2) and (8, 6) ∠B =

tan− 1 ( − )
6

7

tan− 1 ( )
6

7

tan− 1 ( − )
7
6

tan− 1 ( )
7
6

29. If the lines  are inclined at an

angle  to each, other, then the value of k will be

A. 1

y = (2 + √3)x + 4 and y = kx + 6

60∘

https://dl.doubtnut.com/l/_ku3jqK4F7lkT
https://dl.doubtnut.com/l/_xsnduh9X6Nem
https://dl.doubtnut.com/l/_nHgybJbLSNmp


B. 2

C. 

D. 

Answer: C

Watch Video Solution

−1

−2

30. If the lines  and  are equally inclined to the line

 then find the values 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y = 3x + 1 2y = x + 3

y = mx + 4, ( < m < 3)
1

2
m

1 + 3√2

7

1 − 3√2

7

1 ± 2√2

7

1 ± 5√2

7

https://dl.doubtnut.com/l/_nHgybJbLSNmp
https://dl.doubtnut.com/l/_78QF0NaWP4MJ


31. Two equal sides of an isosceles triangle are given by 

and , and its third side passes through the point .

Find the equation of the third side.

A. 

B. 

C. 

D. Neither 

Answer: C

Watch Video Solution

7x − y + 3 = 0

x + y = 3 (1, − 10)

3x − y − 31 = 0 or x + y + 7 = 0

3x − y + 7 = 0 or x + 3y − 31 = 0

3x + y + 7 = 0 or 3y − 31 = 0

3x + y + 7n or x − 3y − 31 = 0

32. If vertices of a parallelogram are respectively

 then angle between diagonals is

A. 

(0, 0), (1, 0), (2, 2) and (1, 2)

π

3

https://dl.doubtnut.com/l/_78QF0NaWP4MJ
https://dl.doubtnut.com/l/_GTDMnBS7rzZd
https://dl.doubtnut.com/l/_KVjy2c9M7BA3


B. 

C. 

D. 

Answer: B

Watch Video Solution

π

2

3π

2

π

4

33. The point of intersection of the lines 

lines on the line

A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

= 1 and + = 1
x

a

y

b

x

b

y

a

x − y = 0

(x + y)(a + b) = 2ab

(lx + my)(a + b) = (l + m)ab

https://dl.doubtnut.com/l/_KVjy2c9M7BA3
https://dl.doubtnut.com/l/_OmGiwKdMU69l


34. Show that the straight lines given by 

for different values of 
pass through a fixed point. Also, find that point.

A. Lines are parallel

B. Lines pass through the point 

C. Line pass through thr point 

D. None of these

Answer: B

Watch Video Solution

(2 + k)x + (1 + k)y = 5 + 7k

k

( − 2, 9)

(2, − 9)

35. The opposite angular points of a square are (3,4) a) and (1,-1). Then the

co-ordinates of other two points are() bx + (a) D1, 9 (a) D(1 ) B(63) 2 2) th 1

9 1 5 2 2) 2 2 (c) D(394(,) 2' 2 (d) none of these

A. D( , ), B( − , )
1

2

9

2

1

2

5

2

https://dl.doubtnut.com/l/_OmGiwKdMU69l
https://dl.doubtnut.com/l/_YBnkWleuY1P0
https://dl.doubtnut.com/l/_ACDRX9acj0nl


B. 

C. 

D. None of these

Answer: C

Watch Video Solution

D( , ), B( , )
1

2

9

2

1

2

5

2

D( , ), B( − , )
9

2

1

2

1

2

5

2

36. The lines

A. parallel

B. perpendicular

C. concurrent

D. None of these

Answer: C

Watch Video Solution

(p − q)x + (q − r)y + (r − p) = 0(q − r)x + (r − p)y + (p − q) = 0, (x −

https://dl.doubtnut.com/l/_ACDRX9acj0nl
https://dl.doubtnut.com/l/_IYZvkkl6UAbs


37. The value of 
 for which the lines


meet at a point is 
b. 
c. 

d. 

A. 2

B. 1

C. 4

D. 3

Answer: B

Watch Video Solution

λ

3x + 4y = 5, 5x + 4y = 4 and λx + 4y = 6 2 3 1

4

38. If the lines ,  and , ( , ,

being distinct and different from ) are concurrent, then




(A)       (B)       (C)       (D)   None of these

ax + y + 1 = 0 x + by + 1 = 0 x + y + c = 0 a b c

1

+ + =
1

1 − a

1

1 − b

1

1 − c

0 1
1

a + b + c

https://dl.doubtnut.com/l/_IYZvkkl6UAbs
https://dl.doubtnut.com/l/_3qdD9H4fJyJK
https://dl.doubtnut.com/l/_SFjLo94FT75K


A. 0

B. 1

C. 

D. 

Answer: B

Watch Video Solution

1

a + b + c

3abc

39. The straight line passing through the point of intersection of the

straight line  is

A. 

B. 

C. 

D. 

Answer: B

x + 2y − 10 = 0 and 2x + y + 5 = 0

5x − 4y = 0

5x + 4y = 0

4x − 5y = 0

4x + 5y = 0

https://dl.doubtnut.com/l/_SFjLo94FT75K
https://dl.doubtnut.com/l/_kBDVrcb8dXKB


Watch Video Solution

40. Which of the following lines is concurrent with the lines

 ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3x + 4y + 6 = 0 and 6x + 5y + 9 = 0

2x + 3y + 5 = 0

3x + 3y + 5 = 0

7x + 9y + 3 = 0

3x − 3y + 5 = 0

41. The straight lines 
 , and 


 are concurrent, if the straight line 

passes through the point
 
(b) 
 
(d) none of these

x + 2y − 9 = 0, 3x + 5y − 5 = 0

ax + by − 1 = 0 35x − 22y + 1 = 0

(a, b) (b, a) ( − a, − b)

https://dl.doubtnut.com/l/_kBDVrcb8dXKB
https://dl.doubtnut.com/l/_xaEVpTI1i2oq
https://dl.doubtnut.com/l/_ryH47YBGzEAT


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(a, b)

(b, a)

(a, − b)

(a, − b)

42. If  then lines 

A. do not intersect

B. intersect

C. are concurrent

D. perpendicular

Answer: A

a + b + c = 0 and p ≠ 0

ax + (b + c)y = p, bx + (c + a)y = p and cx + (a + b)y = p

https://dl.doubtnut.com/l/_ryH47YBGzEAT
https://dl.doubtnut.com/l/_kz6DR0SDNogY


Watch Video Solution

43. The equation of a line passing through the point if intersection of the

lines 

 parallel to the line 

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4x − 3y − 1 = 0 and 5x − 2y − 3 = 0 and

2y − 3x + 2 = 0

x − 3y = 1

3x − 2y = 1

2x − 3y = 1

2x − y = 1

44. Find the equation of the straight line passing through the

intersection
 of the lines 
 and 
 and parallel to x − 2y = 1 x + 3y = 2

https://dl.doubtnut.com/l/_kz6DR0SDNogY
https://dl.doubtnut.com/l/_kSQjOGcDbRnH
https://dl.doubtnut.com/l/_mMe58Sx1jRuE


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3x + 4y = 0.

3x + 4y + 5 = 0

3x + 4y − 10 = 0

3x + 4y − 5 = 0

3x + 4y + 6 = 0

45. Find the equation of the straight line passing through the point of

intersection of the lines 
 and

perpendicular to the line 

A. 

B. 

C. 

5x − 6y − 1 = 0and3x + 2y + 5 = 0

3x − 5y + 11 = 0.

5x + 3y + 8 = 0

3x − 5y + 8 = 0

5x + 3y + 11 = 0

https://dl.doubtnut.com/l/_mMe58Sx1jRuE
https://dl.doubtnut.com/l/_2wOVLgCblhjF


D. 

Answer: A

Watch Video Solution

3x − 5y + 11 = 0

46. The equation of a line passing through the point of intersection of

lines  and perpendicular to the

line  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x + 2y + 3 = 0 and 3x + 4y + 7 = 0

x − y + 9 = 0

x + y + 2 = 0

x − y − 2 = 0

x + y − 5 = 0

x + 2y − 5 = 0

https://dl.doubtnut.com/l/_2wOVLgCblhjF
https://dl.doubtnut.com/l/_ji2q08rZBRAN
https://dl.doubtnut.com/l/_CqY3PixUwzTx


47. Find the equation of a line passing through point of intersection of

lines  and also passing through

point  ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x + 2y + 5 = 0 and 3x + 4y + 1 = 0

(3, 2)

2x + 3y − 5 = 0

3x + 2y − 13 = 0

x + 3y + 13 = 0

3x − 2y − 7 = 0

48. The equation of a line passing through the point of intersection of

line  and making an angle of 

with positive X-axis is

A. 

B. 

2x + 3y + 1 = 0 and 3x − 5y − 5 = 0 45∘

2x − 19y + 23 = 0

19x − 23y + 15 = 0

https://dl.doubtnut.com/l/_CqY3PixUwzTx
https://dl.doubtnut.com/l/_tC8hkeHKJTso


C. 

D. 

Answer: C

Watch Video Solution

19x − 19y − 23 = 0

20x − 19y + 23 = 0

49. The equation of straight line passing through the point of

intersection of the straight line  and  and

having infinite slope is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3x– y + 2 = 0 5x − 2y + 7 = 0

x = 2

x + y = 3

x = 3

x = 4

https://dl.doubtnut.com/l/_tC8hkeHKJTso
https://dl.doubtnut.com/l/_nN3XTg5YGl9w


50. Three sides of a triangle are represented by the equation

 The co-ordinate

of its orthocentre of

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

x + y − 6 = 0, 2x + y − 4 = 0 and x + 2y − 5 = 0.

(10, 11)

(2, 3)

( − 2, − 3)

( − 11, − 10)

51. A point equidistant from the line

 and is

A. 

4x + 3y + 10 = 0, 5x − 12y + 26 = 0 7x + 24y − 50 = 0

(1, − 1)

https://dl.doubtnut.com/l/_nN3XTg5YGl9w
https://dl.doubtnut.com/l/_xNFC9WjhUSUy
https://dl.doubtnut.com/l/_Cgons88qKyQ0


B. 

C. 

D. 

Answer: C

Watch Video Solution

(1, 1)

(0, 0)

(0, 1)

52. The product of the perpendiculars drawn from the points

 on the line  is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

±√a2 − b2, 0 cos θ + sin θ = 1,
x

a

y

b

a2

b2

a2 + b2

a2 − b2

https://dl.doubtnut.com/l/_Cgons88qKyQ0
https://dl.doubtnut.com/l/_VgY60FNZNdN2


53. If  are lengths of perpendicular from the origin 

 and  then 

A. k

B. 

C. 

D. 

Answer: C

Watch Video Solution

p&q

x sinα + y cosα = a sinα cosα x cosα − y sinα = a cos 2α,

4p2 + q2

2k

k2

2k2

54. The points on  that lie at a unit distance from the line 

 are

A. 

x + y = 4

4x + 3y − 10 =

(3, 1), ( − 7, 11)

https://dl.doubtnut.com/l/_VgY60FNZNdN2
https://dl.doubtnut.com/l/_8zq01wpYKVB9
https://dl.doubtnut.com/l/_hOLjzZVrKa05


B. 

C. 

D. 

Answer: A

Watch Video Solution

(3, 1), (7, 11)

( − 3, 1), ( − 7, 11)

(1, 3), ( − 7, 11)

55. The vertex of an equilateral triangle is  and the equation of

its base is  The length of its sides is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(2, − 1)

x + 2y = 1.

4

√15

2

√15

4

3√3

1

√5

https://dl.doubtnut.com/l/_hOLjzZVrKa05
https://dl.doubtnut.com/l/_V4xz0h6ZrxOg


56. .Find the equation of a straight line, which passes through the point

(a, 0) and whose line L has intercepts a and b on the coordinate axis when

the distance from the point (2a, 2a) is a.

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

y − a = 0 and 4x − 3y − 3a = 0

y − a = 0 and 3x − 4y + 3a = 0

y − a = 0 and 4x − 3y + 3a = 0

57. The equations of the lines passing through the point  and at a

distance  from the origin, are

A. 

(1, 0)

√3

2

√3, + y − √3 = 0, √3x − y − √4 = 0

https://dl.doubtnut.com/l/_V4xz0h6ZrxOg
https://dl.doubtnut.com/l/_NfwD5qjS4M35
https://dl.doubtnut.com/l/_fJ9vnYWSJ66m


B. 

C. 

D. None of these

Answer: A

View Text Solution

√3x + y + √3 = 0, √3x − y + √3 = 0

x + √3y − √3 = 0, x − √3y − √3 = 0

58. Find the equations of the lines through the point of intersection of

the lines  and whose distance from the

point  is 

A. 

B. 

C. 

D. None of these

Answer: C

x − y + 1 = 0 2x − 3y + 5 = 0

(3, 2)
7
5

3x − 4y − 6 = 0 and 4x + 3y + 1 = 0

3x − 4y + 6 = 0 and 4x − 3y − 1 = 0

3x − 4y + 6 = 0 and 4x − 3y + 1 = 0

https://dl.doubtnut.com/l/_fJ9vnYWSJ66m
https://dl.doubtnut.com/l/_VqyzLRcTKmab


Watch Video Solution

59. a Find equation of a straight line on which length of perpendicular

from the origin is four units and the line makes an angle of  with the

positive direction of x-axis.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1200

x√3 + y + 8 = 0

x√3 − y = − 8

x√3 − y = 8

x − √3y + 8 = 0

60. The distance between two parallel lines

 is given by3x + 4y − 8 = 0 and 3x + 4y − 3 = 0,

https://dl.doubtnut.com/l/_VqyzLRcTKmab
https://dl.doubtnut.com/l/_n9gfdpvPz3H4
https://dl.doubtnut.com/l/_1sVTiYGdLc3D


A. 4

B. 5

C. 3

D. 1

Answer: D

Watch Video Solution

61. if the equations  and  represent the

same straight line then:

A. 

B. 

C. 

D. 

Answer: B

y = mx + c x cosα + y sinα = p

p = c√1 + m2

c = p√1 + m2

cp = √1 + m2

p2 + c2 + m2 = 1

https://dl.doubtnut.com/l/_1sVTiYGdLc3D
https://dl.doubtnut.com/l/_4CQRPYOrShoa


Watch Video Solution

62. The ratio in which the line 3x+4y+2=0 divides the distance between

3x+4y+5=0 and 3x+4y-5=0 is?

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

5: 3

3: 7

2: 3

63. The diagonals of the parallelogram whose sides are 

, , ,  include an

angle

lx + my + n = 0

lx + my + n' , = 0 mx + ly + n = 0 mx + ly + n' = 0

https://dl.doubtnut.com/l/_4CQRPYOrShoa
https://dl.doubtnut.com/l/_2Ot7tMWuaQgz
https://dl.doubtnut.com/l/_2aeGSAT9O2sB


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

π

3

π

2

tan− 1( )
l2 − m2

l2 + m2

tan− 1( )
2lm

l2 + m2

64. The ends of the base of an isosceles triangle are at

 The equation of one side is The equation of

the other side, is

A. 

B. 

C. 

D. 

(2a, 0) and (0, a). x = 2a.

x + 2y − a = 0

x + 2y = 2a

3x + 4y − 4a = 0

3x − 4y + 4a = 0

https://dl.doubtnut.com/l/_2aeGSAT9O2sB
https://dl.doubtnut.com/l/_EXfzpENiLeuo


Answer: D

Watch Video Solution

65. Equation of the line passing through the point  the

portion of the line intercepted between the axes which is divided

internally in the ratio  by this point, is

A. 

B. 

C. 

D. None of these

Answer: C

View Text Solution

( − 4, 3) and

5: 3

9x + 20y + 96 = 0

20x + 9y + 96 = 0

9x − 20y + 96 = 0

https://dl.doubtnut.com/l/_EXfzpENiLeuo
https://dl.doubtnut.com/l/_L6VuMnZjoq0N


66. If the lines 

are concurrent, then 
are in
a. A.P. b. G.P. c. H.P. d. none of these

A. A.P.

B. G.P.

C. H.P.

D. None of these

Answer: A

Watch Video Solution

ax + 2y + 1 = 0, bx + 3y + 1 = 0andcx + 4y + 1 = 0

a, b, c

67. The equation  and 

 will represent the same line if

A. 

B. 

C. 

(b − c)x + (c − a)y + (a − b) = 0

(b3 − c3)x + (c3 − a3)y + a3 − b3 = 0

b = c

c = a

a = b

https://dl.doubtnut.com/l/_Aft1C22BihAy
https://dl.doubtnut.com/l/_qpkRLqlFiboF


Competitive Thinking

D. 

Answer: D

Watch Video Solution

c = a

68. If  is the length of perpendicular from the origin to the lines

 then  are in

A. A.P.

B. G.P.

C. H.P.

D. None of these

Answer: C

Watch Video Solution

2p

+ = 1,
x

a

y

b
a2, 8p2, b2

https://dl.doubtnut.com/l/_qpkRLqlFiboF
https://dl.doubtnut.com/l/_tFe9iEZAVKWV


1. The slope of a line that makes an angle of measure  with Y-axis is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

30∘

√3

−√3

±√3

±
1

√3

2. The slope of astraight line which does not intersect X-axis is equal to

A. 

B. 

C. 

D. 0

1

2

1

√2

√3

https://dl.doubtnut.com/l/_uxwvL3udJgt9
https://dl.doubtnut.com/l/_Td5V0LVQSzMf


Answer: D

Watch Video Solution

3. The line passing through the points  a

line passing through 

A. are perpendicular

B. are parallel

C. make an angle  with each other

D. none of these

Answer: B

Watch Video Solution

(3, − 4) and ( − 2, 6) and

( − 3, 6) and (9, − 18)

60∘

4. The inclination of the straight line passing through the point

 the midpoint of the line joining the points, ( − 3, 6) and

https://dl.doubtnut.com/l/_Td5V0LVQSzMf
https://dl.doubtnut.com/l/_Sbk6s07Ii8co
https://dl.doubtnut.com/l/_RGLdRybSlsx9


 is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

(4, − 5) and ( − 2, 9)

π

4

π

6

π

3

3π

4

5. Thet equatio of the line passing through (a, b) and parallel to the line

 is

A. 

B. 

C. 

D. 

+ = 1
x

a

y

b

+ = 3
x

a

y

b

+ = 2
x

a

y

b

+ = 0
x

a

y

b

+ + 2 = 0
x

a

y

b

https://dl.doubtnut.com/l/_RGLdRybSlsx9
https://dl.doubtnut.com/l/_qtaWjvRwS0QC


Answer: B

Watch Video Solution

6. find equation of the line parallel to the line  and

passing through the point 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3x − 4y + 2 = 0

( − 2, 3).

3x − 4y + 18 = 0

3x − 4y − 18 = 0

3x + 4y + 18 = 0

3x + 4y − 18 = 0

7. The equation of the line passing through  and perpendicular

to the line through the points  is

( − 3, 5)

(1, 0) and ( − 4, 1)

https://dl.doubtnut.com/l/_qtaWjvRwS0QC
https://dl.doubtnut.com/l/_wwpu6OR83dqX
https://dl.doubtnut.com/l/_auqvSgc1LSPi


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5x + y + 10 = 0

3x − y + 20 = 0

5x − y − 10 = 0

5x + y + 20 = 0

8. The equation of the line bisecting perpendicularly the semgent joining

the points (-4,6) and (8,8) is

A. 

B. 

C. 

D. 

Answer: A

6x + y − 19 = 0

y = 7

6x + 2y − 19 = 0

x + 2y − 7 = 0

https://dl.doubtnut.com/l/_auqvSgc1LSPi
https://dl.doubtnut.com/l/_6ocbvvatAalw


Watch Video Solution

9. The equation of the perpendicular bisector of the line segment joining

is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A( − 2, 3) and B(6, 5)

x − y = − 1

4x + y = 12

x + y = 3

x + y = 1

10. The points  are the opposite vertices of a

rectange. The equation of line passing through other two vertices and of

gradient 2, is

A91, 3) and C(5, 1)

https://dl.doubtnut.com/l/_6ocbvvatAalw
https://dl.doubtnut.com/l/_tCOQKArJQ8YS
https://dl.doubtnut.com/l/_i688L3YmPjPn


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

2x + y − 8 = 0

2x − y − 4 = 0

x + 3y + 4 = 0

x + 2y − 1 = 0

11.  are opposite vertices of a square.The equation of

the other diagonal (not passing through  of the square is

A. 

B. 

C. 

D. 

Answer: C

A( − 1, 1), B(5, 3)

A, B

x − 3y + 4 = 0

2x − y + 3 = 0

y + 3x − 8 = 0

x + 2y − 1 = 0

https://dl.doubtnut.com/l/_i688L3YmPjPn
https://dl.doubtnut.com/l/_MsUjZ7sU9PJp


Watch Video Solution

12. Find the equations of the diagonals of the square formed by the lines

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x = o, y = 0, x = 1andy = 1.

y = x, y + x = 1

y = x, x + y = 2

2y = x, y + x =
1

3

y = 2x, y + 2x = 1

13. The equation of the diagonal through origin of the quadrilateral

formed by the lines  and  is

A. 

x = 0, y = 0, x + y − 1 = 0 6x + y − 3 = 0,

3x − 2y = 0

https://dl.doubtnut.com/l/_MsUjZ7sU9PJp
https://dl.doubtnut.com/l/_ysHwUi7yy7im
https://dl.doubtnut.com/l/_NIf5HLoks3Ut


B. 

C. 

D. None of these

Answer: A

Watch Video Solution

2x − 3y = 0

3x + 2y = 0

14. If the three points A(1, 6), B(3, - 4) and C(x, y) are collinear, then the

equation satisfying by x & y is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

5x + y − 11 = 0

5x + 13y + 5 = 0

5x − 13y + 5 = 0

13x − y + 5 = 0

https://dl.doubtnut.com/l/_NIf5HLoks3Ut
https://dl.doubtnut.com/l/_yTWDurkIDWeV


15. Two consecutive sides of a parallelogram are 
 and 


 . If the equation of one diagonal is 
find the

equation of the other diagonal.

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

4x + 5y = 0

7x + 2y = 0 11x = 7y = 9,

x + 2y = 0

2x + y = 0

x − y = 0

16. Two sides of a rhombus are along the lines, x-y+1=0 and 7x-y-5=0. If its

diagnols intersect at (-1,-2), then which one of the following is a vertex of

a rhombus?
 a. 
 b. 
 c. 
 d. ( − 3, − 9) ( − 3, − 8) ( , − )
1

3

8

3

( − , − )
10

3
7
3

https://dl.doubtnut.com/l/_yTWDurkIDWeV
https://dl.doubtnut.com/l/_0aEkefjM4096
https://dl.doubtnut.com/l/_koe9uszUnbmG


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( − 3, − 9)

( − 3, − 8)

( , − )
1

3

8

3

( − , − )
10

3
7
3

17. If a striaght line passes through the points (  and (1,2) then its

x-intercept is

A. 

B. 

C. 2

D. 1

Answer: A

− , 1)
1

2

−2

−1

https://dl.doubtnut.com/l/_koe9uszUnbmG
https://dl.doubtnut.com/l/_8eAt21kxGOLg


Watch Video Solution

18. Find the equation of a line which passes through  and makes

intercepts equal in magnitude but opposite in sign on  and -axis.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( − 3, 2)

X Y

x − y + 5 = 0

x + y − 5 = 0

x − y − 5 = 0

x + y + 5 = 0

19. Equation of the straight line making equal intercepts on the axes and

passing through the point  is

A. 

(2, 4)

4x − y − 4 = 0

https://dl.doubtnut.com/l/_8eAt21kxGOLg
https://dl.doubtnut.com/l/_zEXW6uF7xDfT
https://dl.doubtnut.com/l/_uJUxSePQnLsP


B. 

C. 

D. 

Answer: C

Watch Video Solution

2x + y − 8 = 0

x + y − 6 = 0

x + 2y − 10 = 0

20. The equation of the straight line passing through the point  and

making intercepts on the co ordinate axes whose sum is , is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(4. 3)

−1

− = 1 and + = 1
x

2

y

3
x

−2

y

1

− = − 1 and + = − 1
x

2

y

3
x

−2

y

1

− = 1 and + = 1
x

2

y

3
x

2

y

1

+ = 1 and + = − 1
x

2

y

1
x

−2

y

1

https://dl.doubtnut.com/l/_uJUxSePQnLsP
https://dl.doubtnut.com/l/_ceER8Izl5Ain


21. The straight line through a fixed point (2,3) intersects the coordinate

axes at distinct point P and Q. If O is the origin and the rectangle OPRQ is

completed then the locus of R is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2x + 3y = xy

3x + 2y = xy

3x + 2y = 6xy

3x + 2y = 6

22. The equation to the line bisecting the join of (3,-4) and (5,2) and

having intercepts on the x-axis and y-axis in the ratio of 2:1 is:

A. x + y − 3 = 0

https://dl.doubtnut.com/l/_ceER8Izl5Ain
https://dl.doubtnut.com/l/_Xx4YhgwvtVZ5
https://dl.doubtnut.com/l/_awuhha40dbP0


B. 

C. 

D. 

Answer: C

Watch Video Solution

2x − y = 9

x + 2y = 2

2x + y = 7

23. If  is the midpoint of line segment intercepted by a line

between axes, the equation of the line is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( , )
3

2

5

2

5x + 3y + 15 = 0

3x + 5y + 15 = 0

5x + 3y − 15 = 0

3x + 5y − 15 = 0

https://dl.doubtnut.com/l/_awuhha40dbP0
https://dl.doubtnut.com/l/_uwr05pzWmKk4


24. A straight line through the point A(3, 4) is such that its intercept

between the axes is bisected at A. Its equation is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x + y = 7

3x − 4y + 7 = 0

4x + 3y = 24

3x + 4y = 25

25. Equation of the line through  which is the midpoint of the line

intercepted between the coordinate axes is

A. 

B. 

(α, β)

+ = 1
x

α

y

β

+ = 2
x

α

y

β

https://dl.doubtnut.com/l/_uwr05pzWmKk4
https://dl.doubtnut.com/l/_PE8hjeYfJrMQ
https://dl.doubtnut.com/l/_z7Q8zr972Q8K


C. 

D. 

Answer: B

Watch Video Solution

− yβ = − 1
x

α

− = − 2
x

α

y

β

26. The equation of the line which is such that the portion of line

segment intercepted between the coordinate axes is bisected at (4,-3) ,is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3x + 4y = 24

3x − 4y = 12

3x − 4y = 24

4x − 3y = 24

https://dl.doubtnut.com/l/_z7Q8zr972Q8K
https://dl.doubtnut.com/l/_YNXRE3LI5sjW
https://dl.doubtnut.com/l/_IzP8JQ5z67Jj


27. An equation of a line whose segment between the coordinate axis is

divided by the point  in the ratio  is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

( , )
1

2

1

3
2: 3

6x + 9y = 5

9x + 6y = 5

4x + 9y = 5

9x + 4y = 5

28. If the portion of a line intercepted between the coordinate axes is

divided by the point  in the ratio  then the equation of that

line is

A. 

B. 

(2, − 10 3: 2.

5x − 2y − 20 = 0

2x − y − 5 = 0

https://dl.doubtnut.com/l/_IzP8JQ5z67Jj
https://dl.doubtnut.com/l/_cXrutY3bn362


C. 

D. 

Answer: D

View Text Solution

3x − y − 7 = 0

x − 3y − 5 = 9

29. If the line px-qy=r intersects the coordinate axes at (a,0) and (0,b),

then the value of a+b is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

r( )
p + q

pq

r( )
p − q

pq

r( )
p − q

pq

r( )
p + q

p − q

https://dl.doubtnut.com/l/_cXrutY3bn362
https://dl.doubtnut.com/l/_dVvVi0O18bnp
https://dl.doubtnut.com/l/_BncPUk1OjXoW


30. A line is such that its segment between the straight lines

 is bisected at the point 

then its equation is

A. 

B. 

C. 

D. None of these

Answer: A

View Text Solution

5x − y − 4 = 0 and 3x + 4y − 4 = 0 (1, 5),

83 − 35y + 92 = 0

35x − 83y + 92 = 0

35x + 35y + 92 = 0

31. The lines  are

A. parallel

B. perpendicular

C. equally inclined to axes

y = 2x and x = − 2y

https://dl.doubtnut.com/l/_BncPUk1OjXoW
https://dl.doubtnut.com/l/_9Ku0WVfed7UG


D. coincident

Answer: B

Watch Video Solution

32. Two line represented by equations  are

mutually orthogonal if k is

A. 1

B. 

C. 0

D. None of these

Answer: B

Watch Video Solution

x + y = 1 and x + ky = 0

−1

https://dl.doubtnut.com/l/_9Ku0WVfed7UG
https://dl.doubtnut.com/l/_p9EgcClJRUeT


33. If the straight lines  are

perpendicular, then the value of k is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2x + 3y − 3 = 0 and x + ky + 7 = 0

3

2

−3

2

2

3

−2

3

34. If the line passing through 
 is parallel
 to the line 


then find
the value of 

A. 

B. 1

C. 

(4, 3)and(2, k)

y = 2x + 3, k.

−1

−4

https://dl.doubtnut.com/l/_Mffpm34yn4G3
https://dl.doubtnut.com/l/_XdP1KtgBJWCv


D. 4

Answer: D

Watch Video Solution

35. The medians BE and AD of a triangle with vertices

 are perpendicular to each other, if .

A. 

B. 

C. Both (A) and (B)

D. None of these

Answer: C

Watch Video Solution

A(0, b), B(0, 0) and C(a, 0)

a = √2b

a = − √2b

https://dl.doubtnut.com/l/_XdP1KtgBJWCv
https://dl.doubtnut.com/l/_Qcg6HWjH5NOP


36. If (-4,5) is a vertex of a square and one of its diagonal is 7x-y+8-0.Find

the equation of other diagonal

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

7x − y + 23 = 0

7y + x = 30

7y + x = 31

x − 7y = 30

37. For what values of 
the intercepts cut off n the coordinate axes

by the line 
are equal in length but opposite in signs to

those cut off by the line 
on the axes.

A. 

B. 

aandb

ax + by + 8 = 0

2x − 3y + 6 = 0

a = , b = − 4
8

3

a = − , b = − 4
8

3

https://dl.doubtnut.com/l/_U3BJY9Do95Ka
https://dl.doubtnut.com/l/_LiAvvQKqn7Ea


C. 

D. 

Answer: D

Watch Video Solution

a = , b = 4
8

3

a = − , b = 4
8

3

38. The equation of the straight line passing through the point  and

perpendicular to the line  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(3, 2)

y = x

x − y = 5

x + y = 5

x + y = 1

x − y = 1

https://dl.doubtnut.com/l/_LiAvvQKqn7Ea
https://dl.doubtnut.com/l/_m57iskqkKGPX
https://dl.doubtnut.com/l/_v1sWWcTYLLEb


39. The equation of the line passing through the point  and

perpendicular to the line  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(1, 2)

x + y + 1 = 0

y − x + 1 = 0

y − x − 1 = 0

y − x + 2 = 0

y − x − 2 = 0

40. Equation of line passing through the point  and perpendicular

to the line  is

A. 

B. 

C. 

(1, 2)

y = 3x − 1

x + 3y − 7 = 0

x + 3y + 7 = 0

x + 3y = 0

https://dl.doubtnut.com/l/_v1sWWcTYLLEb
https://dl.doubtnut.com/l/_YcOXvpM4MuCV


D. 

Answer: A

Watch Video Solution

x − 3y = 0

41. Equatin of the line passing through  and perpendicular to the

line  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( − 1, 1)

2x + 3y + 4 = 0

2(y − 1) = 3(x + 1)

3(y − 1) = − 2(x + 1)

y − 1 = 2(x + 1)

3(y − 1) = x + 1

https://dl.doubtnut.com/l/_YcOXvpM4MuCV
https://dl.doubtnut.com/l/_ImtqTBuinzQM


42. Find the equation of the straight line passing through the point of

intersection of the lines 
 and

perpendicular to the line 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

5x − 6y − 1 = 0and3x + 2y + 5 = 0

3x − 5y + 11 = 0.

5x + 3y + 18 = 0

−5x − 3y + 18 = 0

5x + 3y + 8 = 0

5x + 3y − 8 = 0

43. Find the equation of the line perpendicular to the line 

and passing through a point at which it cuts the x-axis.

A. 

B. 

− = 1
x

a

y

b

+ + = 0
x

a

y

b

a

b

+ =
x

b

y

a

b

a

https://dl.doubtnut.com/l/_sjrbFRs4Ky4p
https://dl.doubtnut.com/l/_2dx4JwWOEsRm


C. 

D. 

Answer: D

Watch Video Solution

+ = 0
x

b

y

a

+ =
x

b

y

a

a

b

44. A line passes through the point  and is perpendicular to the line

 then its -intercept is

A. 

B. 

C. 1

D. 

Answer: A

Watch Video Solution

(2, 2)

3x + y = 3, y

4
3

1

3

2

3

https://dl.doubtnut.com/l/_2dx4JwWOEsRm
https://dl.doubtnut.com/l/_riV0lgX93vxg
https://dl.doubtnut.com/l/_BToqeANL1p6n


45. The equation of the line joining the centroid with the orthocentre of

the triangle formed by the points  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( − 2, 3)(2, − 1), (4, 0)

x + y − 2 = 0

11x − y − 14 = 0

x − 11y + 6 = 0

2x − y − 2 = 0

46. The equation of the straight line in the normal form which is parallel

to the lines  and dividing the

distance between these two lines in the ratio  internally is

View Text Solution

x + 2y + 3 = 0 and x + 2y + 8 = 0

1: 2

https://dl.doubtnut.com/l/_BToqeANL1p6n
https://dl.doubtnut.com/l/_EfySyrFGHmXK


47. The angle between the lines  and

 is


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x cosα + y sinα = a

x sinβ − y cos β = a

(i)β − α(ii)π − α + β(iii) + β + α(iv) − β + α
π

2

π

2

β − α

π + β − α

+ β + α
π

2

− β + α
π

2

48. The angle between the lines  and  will be:

A. 

B. 

C. 

+ = 1
x

a

y

b
− = 1

x

a

y

b

2 tan− 1 b

a

tan− 1 2ab

a2 + b2

tan− 1 a2 − b2

a2 + b2

https://dl.doubtnut.com/l/_pnik3Lc9IKb5
https://dl.doubtnut.com/l/_XDTEoxhBcDKN


D. None of these

Answer: A

Watch Video Solution

49. Angle between  is

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

x = 2 and x − 3y = 6

∞

tan− 1(30

tan− 1( )
1

3

https://dl.doubtnut.com/l/_XDTEoxhBcDKN
https://dl.doubtnut.com/l/_T1dNnYA1V9KX


50. The paralelism condition for two straight lines one of which is

speciified by the equation  the other being represented

parmetrically by  is given by

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ax + by + c = 0,

x = αt + β, y = γt + δ

αγ − bα = 0, β = ∂at = c = 0

aα − bγ = 0, β = δ = 0

aα + bγ = 0

aγ = bα = 0

51. The angle between the two lines  is

A. 

B. 

C. 

y − 2x = 9 and x + 2y = − 7,

60∘

30∘

90∘

https://dl.doubtnut.com/l/_WzyKKKINNVco
https://dl.doubtnut.com/l/_b8Uf6IjqkX48


D. 

Answer: C

Watch Video Solution

45∘

52. The angle between the straight lines

 is-

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x − y + 3 = 0 and x + 2y + 3 = 0

90∘

60∘

45∘

30∘

https://dl.doubtnut.com/l/_b8Uf6IjqkX48
https://dl.doubtnut.com/l/_TPgCO041ckJL


53. if  , then lines  and  are

A. Parallel

B. Inclined at  to each other

C. Perpendicular to each other

D. Inclined at  to each other

Answer: C

Watch Video Solution

+ = 0
1

ab'

1

ba'
+ = 1

x

a

y

b
+ = 1

x

b'

y

a'

60∘

30∘

54. A straight line L through the point (3,-2) is inclined at an angle  to

the line  If L also intersects the x-axis then the equation of L

is

A. 

B. 

C. 

60∘

√3x + y = 1

y + 2 = 0, √3x − y − 2 − 3√3 = 0

x − 2 = 0, √3x − y + 2 + 3√3 = 0

√3x − y − 2 − 3√3 = 0

https://dl.doubtnut.com/l/_dWskfm4P7uKe
https://dl.doubtnut.com/l/_htgfjPELQm0u


D. 

Answer: A

Watch Video Solution

x − √3t + 2 + 3√3 = 0

55. The lines  are concurrent for a

equal to

A. 0

B. 

C. 2

D. 3

Answer: A

Watch Video Solution

x = 3, y = 4 and 4x − 3y + a = 0

−1

https://dl.doubtnut.com/l/_htgfjPELQm0u
https://dl.doubtnut.com/l/_UjYMRLJwcQ2e


56. If the lines  and  are concurrent

the n 

A. 1

B. 3

C. 6

D. 0

Answer: C

Watch Video Solution

3y + 4x = 1, y = x + 5 5y + bx = 3

b =

57. The number of values of 
 for which the lines 
 ,



and 
are concurrent is
0 (b) 1
(c) 2 (d)

infinite

A. All a

B.  only

a 2x + y − 1 = 0

ax + 3y − 3 = 0, 3x + 2y − 2 = 0

a = 4

https://dl.doubtnut.com/l/_3zasI01jsQs3
https://dl.doubtnut.com/l/_iBaNFAoxZo5v


C. 

D.  only

Answer: A

Watch Video Solution

−1 ≤ a ≤ 3

a > 0

58. If the lines  and 

be concurrent, then:

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

ax + by + c = 0, bx + cy + a = 0 cx + ay + b = 0

a3 + b3 + c3 + 3abc = 0

a3 + b3 + c3 − abc = 0

a3 + b3 + c2 − 3abc = 0

https://dl.doubtnut.com/l/_iBaNFAoxZo5v
https://dl.doubtnut.com/l/_SOdMVYZp5SaS
https://dl.doubtnut.com/l/_UDkKSabodHKV


59. The lines ax + by + c = 0, where 3a + 2b + 4c= 0, are concurrent at the

point 3 1 1 3 2'4

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(1/2, 3/4)

(1, 3)

(3, 1)

(3/4, 1/2)

60. If the lines  are

concurrent, then the equation of the lines passing through the point

(b,0) and concurrent with the given lines, is

A. 

B. 

x + 3y − 9 = 0, 4x + by − 2 = 0, and 2x − 4 = 0

2x + y + 10 = 0

4x − 7y + 20 = 0

https://dl.doubtnut.com/l/_UDkKSabodHKV
https://dl.doubtnut.com/l/_d8WAUiojCmpY


C. 

D. 

Answer: D

Watch Video Solution

x − y + 5 = 0

x − 4y + 5 = 0

61. The line passing through the point of intersection of

 and is parallel to , is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x + y = 2, x − y = 0 x + 2y = 5

x + 2y = 1

x + 2y = 2

x + 2y = 4

x + 2y = 3

https://dl.doubtnut.com/l/_d8WAUiojCmpY
https://dl.doubtnut.com/l/_kGaR3ZYhdXP6
https://dl.doubtnut.com/l/_eYB44TAQWtm0


62. A line passes through the point of intersection of

 and paralled to the  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x + y = 5 and x + 3y + 8 = 0 3x + 4y = 7

3x + 4y + 3 = 0

3x + 4y = 0

4x − 3y + 3 = 0

4x − 3y = 3

63. The line parallel to the X-axis and passing through the point of

intersection of the lin  and  where 

 is

A. above the X-axis at a distance of 3/2 from it

B. above the X-axis at a distance of 2/3 from it

ax + 2by + 3b = 0 bx − 2ay − 3a = 0

(a, b) ≠ (0, 0)

https://dl.doubtnut.com/l/_eYB44TAQWtm0
https://dl.doubtnut.com/l/_GRGG4JZvVmdj


C. below the X-axis at a distance of 3/2 from it

D. below the X-axis at a distance of 2/3 from it

Answer: C

Watch Video Solution

64. Find the equation of the line passing through the point of

intersection of the lines 

(b) perpendicular to the line 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

7x + 2y − 5 = 0

2x − 7y − 20 = 0

2x + 7y − 20 = 0

−2x + 7y − 20 = 0

2x + 7y + 20 = 0

https://dl.doubtnut.com/l/_GRGG4JZvVmdj
https://dl.doubtnut.com/l/_Xx0BfP78TF2X


65. Equations of line which passes through the point of intersection of

the  and  and are equally inclined to

the axes are:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4x − 3y − 1 = 0 2x − 5y + 3 = 0

y ± x = 0

y − 1 = ± 1(x − 1)

x − 1 = ± 2(y − 1)

y ± x = 2

66. A line passes through the point of intersection of the line

 and  and makes equal intercepts with

axes. Then, equation of the line is

A. 

3x + y + 1 = 0 2x − y + 3 = 0

5x + 5y − 3 = 0

https://dl.doubtnut.com/l/_Xx0BfP78TF2X
https://dl.doubtnut.com/l/_oJEyHxfbHPgn
https://dl.doubtnut.com/l/_f8vLhsktLjvN


B. 

C. 

D. 

Answer: A

Watch Video Solution

x + 5y − 3 = 0

5x − y − 3 = 0

5x + 5y + 3 = 0

67. 12. lf a and b are two arbitrary constants, then the straight line

will pass through (A) (-1, -2) (B) (1,2)

(C) (-2, -3) (D) (2,3)

A. 

B. 

C. 

D. 

Answer: A

(a − 2b)x + (a + 3b)y + 3a + 4b = 0

( − 1, − 2)

(1, 2)

( − 2, − 3)

(2, 3)

https://dl.doubtnut.com/l/_f8vLhsktLjvN
https://dl.doubtnut.com/l/_j3eN0Ipn2m0l


Watch Video Solution

68. Find the distance
 of the point 
 from the line 


.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(3,   5)

3x   4y   26  = 0

3

7

2

5

7
5

3

5

69. Let  three real numbers and 

 If 

, then the line 

always passes through the fixed point.

a ≠ 0, b ≠ 0, cbe

L(p, q) =
ap + bq + c

√a2 + b2, ∀p, q ∈ R.

L( , ) + L( , ) + L(2, 2) = 0
2

3

1

3

1

3

2

3
ax + by + c = 0

https://dl.doubtnut.com/l/_j3eN0Ipn2m0l
https://dl.doubtnut.com/l/_FJ2HQlVuu4eN
https://dl.doubtnut.com/l/_mC9opeSWXXal


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(0, 1)

(1, 1)

(2, 2)

( − 1, − 1)

70. The length of the perpendicular drawn from orgin upon the straight

line  is

A. 

B. 

C. 

D. 

Answer: A

− = 1
x

3

y

4

2
2

5

3
1

5

4
2

5

3
2

5

https://dl.doubtnut.com/l/_mC9opeSWXXal
https://dl.doubtnut.com/l/_QDzHkHa6BrEX


Watch Video Solution

71. The length of the perpendicular from the origin on the line

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

− − 1 = 0
x sinα

b

y cosα

a

|ab|

√a2 cos2 α − β sin2 α

|ab|

√a2 cos2 α + β sin2 α

|ab|

√a2 sin2 α − β cos2 α

|ab|

√a2 sin2 α + β cos2 α

72. A straight line passes through the points  and . The length

of perpendicular from the point  on the line is

(5, 0) (0, 3)

(4, 4)

https://dl.doubtnut.com/l/_QDzHkHa6BrEX
https://dl.doubtnut.com/l/_DM04dLVpGYIU
https://dl.doubtnut.com/l/_RjlNqRTBnSOA


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

15

√34
√17

2

17
2

√
17
2

73. If the perpendicular distance between the point  and the line 

 is 7, then the possible values of c are

A. 

B. 

C. 

D. 

Answer: D

(1, 1)

3x + 4y + c = 0

−35, 42

35, 28

42, − 28

28, − 42

https://dl.doubtnut.com/l/_RjlNqRTBnSOA
https://dl.doubtnut.com/l/_rGRsJvrVwMmc


Watch Video Solution

74. What are the points on the x-axis whose perpendicular distance from

the line  is a

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

+ = 1
x

a

y

b

[ (b ± √a2 + b2), 0]
a

b

[ (b ± √a2 + b2), 0]
b

a

[ (a ± √a2 + b2), 0]
a

b

75. Two points A and B have coordinates  and  respectively.

The co-ordinates of a point distant  from B on the line through B

perpendicular to AB are

(1, 1) (3, − 2)

√85

https://dl.doubtnut.com/l/_rGRsJvrVwMmc
https://dl.doubtnut.com/l/_gpVCyPkkad2D
https://dl.doubtnut.com/l/_lRr9zk4fbHtM


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(4, 7)

(7, 4)

(5, 7)

( − 5, − 3)

76. The vertices of a triangle are  The lengths of

the perpendicular from these vertices on the opposite sides are

A. 

B. 

C. 

D. 

Answer: D

(2, 1), (5, 2) and (4, 4)

, ,
7

√5

7

√13

7

√6

, ,
7

√6

7

√8

7

√10

, ,
7

√5

7

√8

7

√15

, ,
7

√5

7

√13

7

√10

https://dl.doubtnut.com/l/_lRr9zk4fbHtM
https://dl.doubtnut.com/l/_HZ5jaf6Xuflw


Watch Video Solution

77. the equation of line of the base of the equilateral triangle is

 and vertix  then length of the side is:

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

x + y = 2 (2, − 1)

√3/2

√2

√2/3

78. If the equation of the base of an equilateral triangle is 

and the vertex is  then the length of a side of the triangle is-

A. 

2x − y = 1

( − 1, 2),

√
20

3

https://dl.doubtnut.com/l/_HZ5jaf6Xuflw
https://dl.doubtnut.com/l/_k5g6hxbr8EqA
https://dl.doubtnut.com/l/_UNIBB6OvgnjD


B. 

C. 

D. 

Answer: A

Watch Video Solution

2

√15

√
8

15

√
15

2

79. 
 is a point on the line 
 and 
 two points on the

line 
 such that triangle 
 is an equilateral triangle. The

length of the side of the triangle is
 
(b) 
(c) 
(d) none of these

A. 

B. 

C. 

D. 

Answer: B

P y + 2x = 1, QandR

3y + 6x = 6 PQR

2

√5

3

√5

4

√5

1

√15

2

√15

2

√5

4

√5

https://dl.doubtnut.com/l/_UNIBB6OvgnjD
https://dl.doubtnut.com/l/_SUUeq43MifyG


Watch Video Solution

80. The equation of the line passing through the point of intersection of

the lines  and lying at a distance of 

units from the origin, is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2x + y − 4 = 0, x − 3y + 5 = 0 √5

x − 2y − 5 = 0

x + 2y − 5 = 0

x + 2y + 5 = 0

x − 2y + 5 = 0

81. A straight line makes an intercept on the Y-axis twice as along as that

on X-axis and is at a unit distance from the origin. Then the line is

represented by the equations

https://dl.doubtnut.com/l/_SUUeq43MifyG
https://dl.doubtnut.com/l/_bW2oeS7K43ap
https://dl.doubtnut.com/l/_Y9e0PoL2glHB


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2x + 3y = ± √5

x + y ± 2

x − y = ± 2

2x + y = ± √5

82. The vertices of a  are .

Find the equation of the line parallel to BC and intersecting the sides OB

and OC and whose perpendicular distance from the origin is .

A. 

B. 

C. 

D. None of these

△ OBC O(0, 0), B( − 3, − 1), C( − 1, − 3)

1

2

2x + 2y + √2 = 0

2x − 2y − √2 = 0

2x − 2y + √2 = 0

https://dl.doubtnut.com/l/_Y9e0PoL2glHB
https://dl.doubtnut.com/l/_cFtP0mte2Edy


Answer: A

Watch Video Solution

83. The equation of one of the line parallel to 4x -3y=5 and at a unit

distance from the point (-1,-4) is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3x + 4y − 3 = 0

3x + 4y + 3 = 0

4x − 3y + 3 = 0

4x − 3y − 3 = 0

84. The vertices of a triangle are 
and .
The

equation of the bisector of 
is____

A( − 1, − 7), B(5, 1), C(1, 4)

∠ABC

https://dl.doubtnut.com/l/_cFtP0mte2Edy
https://dl.doubtnut.com/l/_Gle2KaI1TArv
https://dl.doubtnut.com/l/_ILxGNy2aBgfx


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x = 7y + 2

7y = x + 2

y = 7x + 2

7x = y + 2

85. Number of points having distance  from the straight line x - 2y + 1 =

0 and a distance  from the line 2 x + 3y - 1 = 0 is _

A. 1

B. 2

C. 4

D. 5

Answer: C

√5

√13

https://dl.doubtnut.com/l/_ILxGNy2aBgfx
https://dl.doubtnut.com/l/_UJwjHLbMeUGr


Watch Video Solution

86. On the portion of the straight Straight Line from line 

which is intercepted between the axes, a square is constructed away from

the origin with this portion as on of its side. If p denotes the

perpendicular distance of a side of this square from the origin, then the

maximum value of p is
A)  (B) C)  D) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x + y = 2

√2 2√2 3√2 4√2

3√2

2√3

2

√3

3

√2

https://dl.doubtnut.com/l/_UJwjHLbMeUGr
https://dl.doubtnut.com/l/_A3yblo4obSzr


87. The equation of straight line equally inclined to the axes and

equidistant from the point  and  is:

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

(1, − 2) (3, 4)

a − 1, b = 1, c = 1

a = 1, b = − 1, c = − 1

a = 1, b = 1, c = 2

88. The distance between the line  is

A. 

B. 

C. 6

D. None of these

3x + 4y = 9 and 6x + 8y = 15

3

2

3

10

https://dl.doubtnut.com/l/_19Kuudx0oQ2a
https://dl.doubtnut.com/l/_QcKXrScXK5c4


Answer: B

Watch Video Solution

89. The distance between the parallel lines  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = x + a, y = x + b

|a − b|

√2

|a − b|

|a + b|

|a + b|

√2

90. The line L given by  passes through the point (13,32).the

line K is parallel to L and has the equation  then the distance

between L and K is

+ = 1
x

5

y

b

+ = 1
x

c

y

3

https://dl.doubtnut.com/l/_QcKXrScXK5c4
https://dl.doubtnut.com/l/_o7GmhRGThWBY
https://dl.doubtnut.com/l/_N9nb3YI34O63


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

23

√15

√17

17

√15

23

√17

91. Let  be the distance between lines  and  and 

be the distance between the lines  and , then

A. 

B. 

C. 

D. None of these

Answer: A

α −x + y = 2 x − y = 2 β

4x − 3y = 5 6y − 8x = 1

20√2β = 11α

20√2α = 11β

11√2β = 20α

https://dl.doubtnut.com/l/_N9nb3YI34O63
https://dl.doubtnut.com/l/_SV3KphpnUU5D


Watch Video Solution

92. The line  passes through a point

regardless of the value k. Which of the following is the line with slope 2

passing through the point?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(k + 1)x + ky − 2k2 − 2 = 0

y = 2x + 8

y = 2x − 4

y = 2x − 51

y = 2x − 8

93. If the line ax+by+c=0 always passes through the fixed point (1,-2) then :

a,b,c are in

https://dl.doubtnut.com/l/_SV3KphpnUU5D
https://dl.doubtnut.com/l/_mQeRTyRyn2KZ
https://dl.doubtnut.com/l/_YSUpE28cbWVQ


A. A.P.

B. H.P.

C. G.P.

D. None of these

Answer: A

Watch Video Solution

94. If l, m, n are in AP, then the line lx+my+n=0` will always pass through

the point

A. 

B. 

C. 

D. 

Answer: B

( − 1, 2)

(1, − 2)

(1, 2)

(2, 1)

https://dl.doubtnut.com/l/_YSUpE28cbWVQ
https://dl.doubtnut.com/l/_NXRPuS9oVDYF


Watch Video Solution

95. If 
 are in harmonic progression, then the straight line 


 always passes through a fixed point. Find that

point.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

a, b, c

(( )) + ( ) = 0
x

a y

b

l

c

( − 1, − 2)

( − 1, 2)

(1, − 2)

1, − 1/2)

96. The incentre of the triangle formed by the straight line having 3 as X-

intercept and 4 as Y-intercept, together with the coordinate axes, is

https://dl.doubtnut.com/l/_NXRPuS9oVDYF
https://dl.doubtnut.com/l/_3NUcM3yNCE2f
https://dl.doubtnut.com/l/_zAC5ghP2CNqB


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(2, 2)

( , )
3

2

3

2

(1, 2)

(1, 1)

97. The equations of the sides of a triangle are

 The line  passes

through (A) Incentre (B) Centroid (C) Orthocentre (D) Circumcentre

A. The incentre

B. The centroid

C. The circumcentre

D. The orthocentre of the triangle

x − 3y = 0, 4x + 3y = 5, 3x + y = 0. 3x − 4y = 0

https://dl.doubtnut.com/l/_zAC5ghP2CNqB
https://dl.doubtnut.com/l/_nCeZTk5jthue


Answer: D

Watch Video Solution

98. The straight lines  and 

 form a triangle, which is

A. isosceles

B. equilateral

C. right-angled

D. none of these

Answer: A

Watch Video Solution

x + y − 4 = 0, 3x + y − 4 = 0

x + 3y − 4 = 0

99. The straight lines ,  and  form (A) an

isosceles triangle (B) an equilateral triangle (C) a scalene triangle (D) a

x + y = 0 5x + y = 4 x + 5y = 4

https://dl.doubtnut.com/l/_nCeZTk5jthue
https://dl.doubtnut.com/l/_rVypWcaY8lfj
https://dl.doubtnut.com/l/_BMuPJsVj36b4


Evaluation Test

right angled triangle

A. an isosceles triangle

B. an equilateral triangle

C. a scalene triangle

D. a right angled triangle

Answer: A

Watch Video Solution

1. If  then the lines 

 ar perpendicular to each other, if

A. 

B. 

f(α) = x cosα + y sinα − p(α),

f(α) = 0 and f(β) = 0

α = β

α + β =
π

2

https://dl.doubtnut.com/l/_BMuPJsVj36b4
https://dl.doubtnut.com/l/_dY3ciJrrSADD


C. 

D. none of these

Answer: C

Watch Video Solution

|α − β| =
π

2

2. The locus of the orthocentre of the triangle formed by the lines

 and y = 0,

where , is (A) a hyperbola (B) a parabola (C) an ellipse (D) a

straight line

A. a hyperbola

B. a parabola

C. an ellipse

D. a straight line

Answer: D

W t h Vid S l ti

(1 + p)x − py + p(1 + p) = 0, (1 + q)x − qy + q(1 + q) = 0

p ≠ ⋅ q

https://dl.doubtnut.com/l/_dY3ciJrrSADD
https://dl.doubtnut.com/l/_yJjsd1JEBpOT


Watch Video Solution

3. If the straight line  make a triangle of constant area

with coordinate axes, then

A. a,b,c, are in G.P.

B. a,c,b are in G.P.

C. c,a,b, are in G.P.

D. none of these

Answer: B

Watch Video Solution

ax + by + c = 0

4. Let  be a fixed angle . If 

, then Q is obtained from P by

A. clockwise rotation around origin through an angle 

0 < α <
π

2

p = (cos θ, sin θ) and Q(cos(α − θ))

α

https://dl.doubtnut.com/l/_yJjsd1JEBpOT
https://dl.doubtnut.com/l/_PeqBlGTf6rNX
https://dl.doubtnut.com/l/_0FjkSZ0tMgEg


B. anti-clockwose rotation aroung origin through an angle 

C. reflection in the line through origin with slope tan 

D. reflection in the line through origin with slope 

Answer: D

Watch Video Solution

α

α

tan
α

2

5. Let P = (-1, 0), Q = (0, 0) and R = (3, ) be three points. The equation of

the bisector of the angle PQR

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3√3

x + y = 0
√3

2

x + √3y = 0

√3x + y = 0

x + y = 0
√3

2

https://dl.doubtnut.com/l/_0FjkSZ0tMgEg
https://dl.doubtnut.com/l/_tUorgnj0gjdU


6. A square of side 'a' lies above the x-axis and has one vertex at the

origin. The side passing through the origin makes an angle  (0 < 

pi`/4 ) with the positive direction of x-axis. Find the equation of diagonal

not passing through the origin ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

α α' <

y(cosα + sinα) + x(cosα − sinα) = a

y(cosα − sinα) − x(sinα − cosα) = a

y(cosα + sinα0 + x(sinα − cosα) = a

y(cosα + sinα) + x(sinα + cosα) = a

7. A line L passeds through the points  and another line

L' passes through  and perpendicular to L. Then the area of the

triangle formed by the lines L, L' and Y-axis is

(1, 1) and (2, 0)

( , 0)
1

2

https://dl.doubtnut.com/l/_tUorgnj0gjdU
https://dl.doubtnut.com/l/_wxo7Qm0YHhXW
https://dl.doubtnut.com/l/_xsEJ4qGpXxYC


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

15

8

25

4

25

8

25

16

8. The number of integral values of 
 for which the x-coordinate of the

point of intersection of the lines 
and 
is also an

integer is
2 (b) 0
(c) 4 (d) 1

A. 2

B. 0

C. 4

D. 1

m

3x + 4y = 9 y = mx + 1

https://dl.doubtnut.com/l/_xsEJ4qGpXxYC
https://dl.doubtnut.com/l/_bl2bkCEAYeeW


Answer: A

Watch Video Solution

9. If the lines  ,  and 

 are concurrent and the first two lines include an

angle  , then  is equal to

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

ax + by + p = 0 x cosα + y sinα − p = 0(p ≠ 0)

x sinα − y cosα = 0

π

4
a2 + b2

https://dl.doubtnut.com/l/_bl2bkCEAYeeW
https://dl.doubtnut.com/l/_r6duKCpHuhsj


10. A line  passes through the point A(2,-7) and meets line BC

at B whose equation is , the equation of line AC such

that  is (a) 52x +89y +519=0(b) 52x +89y-519=0 c) 82x

+52y+519=0 (d) 89x +52y -519=0

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4x + y = 1

3x − 4y + 1 = 0

AB = AC

52x + 89y + 519 = 0

52x + 89y − 519 = 0

89x + 52y + 519 = 0

89x + 52y − 519 = 0

https://dl.doubtnut.com/l/_tkOQqJlG6d7W

